Errata, JGR 102:18149-18173.
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. 18155, Eq (4) should read:

18151, column 2, line 7, “to the Chl => Ky” should read “to as the Chl => Ky”

18153, Eq (1) should read: dAG = AVdP, —ASdT
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case 3An=1.

. 18157, Eq (8) the first plus sign should be replaced by a minus sign.

. 18157, the donut number should be defined as Do = If SEApg , see also the fluid

0

Deborah number as defined by Connolly and Podladchikov (1998).

. 18163, column 1, line 7, “as a AV > 0 should read “as likely as a AV > 0.
. 18163, column 2, paragraph 2, line 4, “necessary to” should read “necessary”.

. 18164, column 2, paragraph 2, line 5, “its wavelength” should read “to its

wavelength”.



